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import matplotlib.pyplot as plt
import numpy as np

# (a) y=2*x+3

x = np.linspace(1,4,301)
fx = 2*x+3
plt.plot(x,fx)

plt.show()

# (b) y=x"2-2*x+4
X = np.linspace(-2,2,401)
gx = X**2-2*x+4

plt.plot(x,gx)
plt.show()

03. k=——

04, —6<a<?

05. (a) —2v2 (b) 10

3 2
06. - 5:— log,7

-
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07. 0
# Exercise 2-4
import numpy as np

# XY AL ZE OIS 42x=7 -> x=l0og_4(7)
x = np.log(7)/np.log4) # 2| 2-8 (1)

ans = (2**x-2**(-x))/(2**x+2**(-x))

print("The answer is ", ans, ".")

1+ 2xy
08. 2+ xy

szt _ 90 gopor
09. 2|23 _3_2, 93 -1

import matplotlib.pyplot as plt
import numpy as np

# 1()=(0.5"(x+1)-3
def f(x):
return (0.5)**(x+1)-3

# Plot the graph of y=f(x)
x = np.linspace(-2,4,601)
fx = f(x)

plt.plot(x,fx)

plt.show()

print("Min of f : ”, f(4))
print("Max of f : “, f(-2))
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import matplotlib.pyplot as plt
import numpy as np

# f(x)=(log_3(x))*2-log_3(x"4)+3
def f(x):
return (np.log(x)/np.log(3))**2-np.log(x**4)/np.log(3)+3

# Plot the graph of y=f(x)
x = np.linspace(0.01,81,1001)
fx = f(x)

plt.plot(x,fx)

plt.show()

9
13. 1

14, a+b+c=6

15. @, ®

import matplotlib.pyplot as plt
import numpy as np

x = np.linspace(-2*np.pi,2*np.pi)
y1l = 2*np.cos(x)+4
y2

-np.sin(4*x)+7
y3 = 4*np.tan(2*x)
y4 = 5*np.cos(x/4)-2
plt.plot(x,y1)
plt.plot(x,y2)
plt.plot(x,y3)
plt.plot(x,y4)
plt.show()






